
StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med negative krefter på ti

9609, 6 × 0.1 = ________ 1993, 5 × 0.1 = ________

6174, 4 × 0.001 = ________ 9906, 2 × 0.1 = ________

5589, 4 × 0.0001 = ________ 7913, 9 × 0.0001 = ________

4269, 7 × 0.1 = ________ 7616, 8 × 0.001 = ________

1333, 3 × 0.1 = ________ 3991, 9 × 0.001 = ________

1056, 1 × 0.1 = ________ 1490, 8 × 0.0001 = ________

1130, 8 × 0.01 = ________ 7733, 9 × 0.001 = ________

9699, 5 × 0.1 = ________ 8163, 6 × 0.01 = ________

3909, 4 × 0.001 = ________ 9539 × 0.01 = ________

6293, 9 × 0.0001 = ________ 3761, 2 × 0.001 = ________
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StudentName: 　　　　　　　 ExamDate: 　　　　　　 ExamScore: 　　　

Multipliser desimaler med negative krefter på ti

9609, 6 × 0.1 = 960.96 1993, 5 × 0.1 = 199.35

6174, 4 × 0.001 = 6.1744 9906, 2 × 0.1 = 990.62

5589, 4 × 0.0001 = 0.55894 7913, 9 × 0.0001 = 0.79139

4269, 7 × 0.1 = 426.97 7616, 8 × 0.001 = 7.6168

1333, 3 × 0.1 = 133.33 3991, 9 × 0.001 = 3.9919

1056, 1 × 0.1 = 105.61 1490, 8 × 0.0001 = 0.14908

1130, 8 × 0.01 = 11.308 7733, 9 × 0.001 = 7.7339

9699, 5 × 0.1 = 969.95 8163, 6 × 0.01 = 81.636

3909, 4 × 0.001 = 3.9094 9539 × 0.01 = 95.39

6293, 9 × 0.0001 = 0.62939 3761, 2 × 0.001 = 3.7612
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